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Ywwnwnpdwu dwdybwnubiph, gnpdwywnpnipjwu
dhwutwlwu Ywngh wwhwusubiph Ywwnwpdwt
uywwndwdp pwhulnnnipinit (wwwnwufuwl
gnnipnLtuubnh, nhdnwubiph pwuwyp)

pwuwywlwu
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bhuwtuwlwu gnigwuhoubin (hwgq. npwd)

Onwgnuihl
nuuhgn
? Swppt u
o 2| 5 wppbpniejw
S—c_ eunubw g_c_ 5 3 u Smigutingh 6 5 Pwuwgh wwwndwnp
? = U’l P < g Opwgnh Yud Quithnpnghh miguitihoh thdinfuni- 2w gnigwuhop  [<wunwnywd|  (u). 8-nwd upwid
g = Onuwg |Yndinig)u ? < Lwnwpwlwtnyz)wl 2uihinpnohsp (bywipwigpnieynitip) b hwunwuws |- ettt gniguiingn (npwdwpynwih| W thwuwnwgh hpwywywu
€ E nh u £ § dhgngundw wujwnudp et fuubfuuntunuip guen huizennidudul U dwfuu) gnigwhauinh| whwnbph hnnwdubpp
3 [nwuhs |dhgnguind| = = hwoybinnt  [hwdwwwnw | wywhwindwsdh
5 c?[ 3, hwodtiinnt  Jwwppbipniegne| W uj. 11-nwd upwd
1] wu S dwdwuwwhw u-fuwi hwdwp (uy 7+uj udwtwlwhw | up (u) 10-us 9 e
e sh huwd L 8) 0 (uy 10-uj 9) nptipniey
gD L husduwin | fpuidu-tu nywdnud wwpqupwunwiubipp
wlinh (+7-) )
u P q s 5} 2 E L (& d 7 8 9 10 12
Tuypngwlwl nwphph tptfuwutinh
106009 pungnpydusdnigniup nunwiuwlwu
hwuwmwwnnigniutipnud /innynu/
Sunwlubiph
gnpdplpwgh
wpryntupntd
wnwowguid
nlnbunti'1086.8h
. 4,
Cunwdbup 522,045.30 |- 1,473.2 521,472.10 | 512,608.94 |- Lgimnuﬁ )
Jwwnwpdwt
wpryntupnd
wnwudhu
hnnwdubipny'7776.
36 hwq. npwd
Suinnuiluil plnhuitini uuwnwbbinh pwlwlwluwu| 1,608,166.90 | - 12,223.00 |  1,595,943.90 | 1,595,943.90
wawbinnttinh ehyp
Swppwlwu nwuwpwutbpnd uuniun uinwgnn bl
wawybtnnutinh plwpwuwyp
Swppwlwl punhwunip
106009 | 21146 |Uo| 10 | 1 hwupwyppenip)niu Ghwntilhpubiph unnigiwl wpryniupnud "
wowlbpwnubiph dhoht quwhwwnwywup
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bhuwtuwlwu gnigwuhoubin (hwgq. npwd)
nuuhgn
ot
£ Swppbipnipjwu
cl ==} =
S—c_ eunubw g_c_ 5 3 u Smigutingh 6 5 Pwuwgh wwwndwnp
? = U’l . = g Opwgph Ywd Quithnpnghh mgutihgh thniinfunt- 2 gnigwhgp | <wunwnywd|  (u). 8-nud upjwd
g =3 Onuig, Yndinyeju ? < Punwpwunipjut Qwithnpnghgp (Wywpwigpnieniup) b huunuingws |- yniiliEnt gniguilinzn (npwdwpynwih| b thwuwnwgh hpwywlwu
€ E nh u £ § dhgngundw wujwnudp et fuubfuuntunuip guen huigdfnnidudwl U dwfuu) gnigwhauinh| whwnbph hnnwdubpp
3 [nwuhs |dhgnguind| = = hwoybinnt  [hwdwwwnw | wywhwindwsdh
5 c?[ 3, hwodtiinnt  Jwwppbipniegne| W uj. 11-nwd upwd
1] wt S dwdwuwwhw u-fuwi hwdwp (uy 7+y)
g dwdwuwlwhw | Up (uy 10-uy 9} |  wwppbipnipjwu
gD wtuidh hudwp | ppuiu-Gut 8 nywdnud wwpqupwunwiubipp
wiwnh (+/-) )
u P G Y| 6 2 E L (& d 7 8 9 10 1 12
Unwplywjwlwl dpwanptiph Ywwwpnwp /innynu/  [npulwlwt
Unwohu nwuwpwultiph wowybipwnubph R
nunuwuwywt wywpwwdniuplbph wmbnnnyeyniup —
fowpwi/ !
o] uub bpunub
nYnnnr nuuwpwiiutinh wawltinnutiph R
nunuWuwywt wywpwwdniuplbph wunnnyeyniup —
fowpwi/ )
Bppnpn U snppnpn. nuiuwpwibinh
dwdlybtwnuwju
wowlbipwnubph nunwbwlwt ywpwwdniuputbiph mw uljnmu”
nlnnnipintup /owpwe/ el
106009 | 2 | 1146 |UD| 22| 2 <huuwu pnhutini— hdtulul pghwling puuwnwilinh pwuwlwlwu| 2,201,845.60 |  27,259.6 2,229,105.20 | 2,229,105.18 |- 0.0
hwupwypenignit wawybnnutiph ehyp
Unghwjwwbu wuwwwhny punwuhputinh bl )
tinbluwutiph pwpwuwy
Udihnihhs winbutwynpdwt wpryntupnid "
wowlbpwnubph dhoht quwhwwnwlwup
Unwpywjwlywu dpwantiph Ywwnwpnwp /innlynu/  [npulwlwi
5-9+ uub bpunub
N nuuwpwtittinh wawytinnutiph R —
nunwuwywt wwpwwdniuplbph wmbnnnyegniup —
fowpwie/ el
Uhsl unhwi uub
hbuiuing plnhuwlni puuwpwlbiph 628,698.40 | - 26,849.0 601,849.40 601,849.40 -
wpwybnutbph phyn
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nuuhgn
g_l
ol 2| 5 Swppbipnipjwu
S—c_ eunubw g_c_ 5 3 u Smigutingh 6 5 Pwuwgh wwwndwnp
? =lo anUqr-uQuJ é i Opwgnh Yud Qupnpnohsh | h nigu hZhé LhnL{Lr;l';n; zmu;:u gnigwuhop  [<wunwnywd|  (u). 8-nwd upwid
g g MG UIBJ gl = Punwpwwtniejwl 2uihinpnohsp (bywipwigpnieynitip) unbuwlyp ﬁumwil{wd feIntEutn h gnhlgw dhz?j . (npwdwpynwih| L hwuwnwgh hpwywlwu
c
€ E nh < 3 dhgngundw wujwnudp {uuifuwinunidp guen wi{tnnidudu U dwfuu) gnigwhauinh| whwnbph hnnwdubpp
3 [nwuhs |dhgnguind| = = hwoybinnt  [hwdwwwnw | wywhwindwsdh
3 3 3 hwodtiinnt  Jwwppbipniegne| W uj. 11-nwd upwd
1] wt o g dwdwuwwhw u-fuwi hwdwp (uy 7+y)
dwdwuwlwhw | Up (uy 10-uy 9} |  wwppbipnipjwu
gD © wtuidh hudwp | ppuiu-Gut 8 nywdnud wpqupwuntiub,
wln (+/-) wuwnq P) np
u P q s 5} 2 E L (& d 7 8 9 10 11 12
pwiwywywu
Unghwjwuwbiu wuwwwhny punwuhputinh
tpbfuwubph pwpwuwy
106009 | 2 | 1146 [Uo| 34| 3 Uhgbuutuing. prhutinin
hwupwyppnieniu
Udthnihhs winbunwynpdwt wpryntupntd npwlulut
wowlbipwnubph dhoht quwhwwwlwup
Unwplywjwlyw dpwantiph Ywwnwpnwp /innynu/  |npulwlwt
10-12-pn nwuwpwuubph wowytipnubinh Fudynuwg
nunWuwywl ywpwwdnwipubph wunnnuggntup —
fowpwe/ )
“Ywpngwhwuwl ptifuwubiph tnpwuuwnpunwhu
CwpwYppwYwl nwpngutph Jmnugnh thj:jw&nrt'gmd nh wnpubuwnpauht ) gwyu|  24,402.60 | 3,952.60 28,355.20 | 28,012.60 342.60 | Upfuwinwtphg
dwulwywpdubphu b wqwwnywud
106009 | 2 | 1146 (0S| 08| 1 nunngwhwuwl bpbfuwtbpht nwunighgutiph
wnpwluwnpwwiht dwiuubph wnpwuuwnpnwih
nfuhwwnnignid Swfuu
thnju 9 Cwupwlpprwlwu nupngubph dwulwdwnpdubiph bl fu
npwuynpunwiht swiuubiph thnfuhwunnignid
o] u Gpbluwub
wnujnuejnibp unwgnn Bnbfutibnh puwibiwlwwb 8,476.70 |- 562.60 7,914.10 7,914.10 -
pYwpwtwyp
L u
106009 | 2 | 1146 |UD|109 L“r”q“;gm';'ff:“w S " ;
wdwjtiptiiph hyn, npintin dwnnigynud £ putwlulu
twfuwnwpngulw dwnwjnyeintup
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nwupgn
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£ Swppbipnipjwu
cl ==} =
S—c_ eunubw g_c_ 5 3 u Smigutingh 6 5 Pwuwgh wwwndwnp
? =lo anUqr-uQuJ é i Opwgph Ywd Qupnpnohsh | h niguw hZhé LhnL{Lr;l';n; zmu;:u gnigwhgp | <wunwnywd|  (u). 8-nud upjwd
g S r) gl = Lunupwlwtinizju Qwithnpnghgp (Wywpwigpnieniup) inbuwly Ui feInttHan gniguilinzn (npwdwpynuih| W hwunwgh hpwywywu
2 3 |ph u s | 5 Shongundw wiywtinup 0 JYwufuwwbunwip pun hwybinnidwdwu
5 = U dwfuu) gnigwhauinh| whwnbph hnnwdubpp
3 |nuwuhg |dhgngund g = hwoybinnt  [hwdwwwnw | wywhwindwsdh
3 3 hwodtiinnt  Jwwppbipniegne| W uj. 11-nwd upwd
wt o g dwdwuwwhw u-fuwi hwdwp (uy 7+y)
g dwdwuwlwhw | Up (uy 10-uy 9} |  wwppbipnipjwu
gD wtuidh hudwp | ppuiu-Gut 8 nywdnud wwpqupwunwiubipp
wiwnh (+/-) )
u P G Y| 6 2 E L (& d 7 8 9 10 1 12
Uuntun unwgnn tptfuwtiph pupwwyp pwlwywlwu
Unpwlwl dpwanpbph Ywwwpnwp /nnynu/ npwlwywu
Sunh dwdytitnwyu
n niRjwl
Uwpquijht Bupwywjnipjwu
U u
106009(2 | 1148|UoT| 07 Ejll??f?jnl:il:ﬁwnm Yuqiwybpwnipynutpnd wpnwnwnpguwlwu [ pwbwlwlwu 65,983.20 65,983.20 65,983.20 -
" el Upenienit utnwgnn uwutiph phyp
U u ul
[w:ﬁfﬁz Liﬂ:ﬁjﬁmunhph Nwwdwu updwdtwph thnfuhwwnnignd unwgnn
106009(2 | 1148(UT| 19 g nunigdu wqqwiht, thnquiht U jwpwjht bjwqwpwitbph | pwuwlwywu 35,939.90 35,939.90 35,939.90 -
YuquwlEpunu gdny unynpnnubiph eYwpwtwyp
Mwhwwuynn pwiqupwiuwht wnwpYwutiph bl
pwwyp
Bl Uwwuwplyynn pwugwpwuwiht wighbinth phyn | pwlwlwlwu
106009 | 2 |1046|UD| 07| 1 Swnw)nyeniutibip b
gnigwhwuntiuubin
Ywaqdwytpyynn gnigwhwunbuutiph phup pwiwlwlwu
Lunwdbkup 11,909.80 11,909.80 11,909.80 -
Wgbiinwbnh pwpwuwyp pwiwlwlwu
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nwuhsp
ot
£ Swppbipnipjwu
cl ==} =
S—c_ e g_c_ 5 3 u Smigutingh 6 5 Pwuwgh wwwndwnp
? = wnr]_tuptu < g Opwgnh Yud Quithnpnghh miguitihoh thdinfuni- 2w gnigwuhop  [<wunwnywd|  (u). 8-nwd upwid
= = Onuwg |Yndinig)u ? < Lwnwpwlwtnyz)wl 2uihinpnohsp (bywipwigpnieynitip) hwunwuws |- ettt gniguiingn (npwdwpynwih| W thwuwnwgh hpwywywu
? 3 |ph u s | 5 Shongundw wiywtinup wbuwlp Ywufuwwnbunwip pun hwybinnidwdwu us
5 = wfuu) gnigwhauinh| whwnbph hnnwdubpp
3 [nwuhs |dhgnguind| = = hwoybinnt  [hwdwwwnw | wywhwindwsdh
3 3 3 hwodtiinnt  Jwwppbipniegne| W uj. 11-nwd upwd
1] wt o g dwdwuwwhw u-fuwi hwdwp (uy 7+y)
dwdwuwlwhw | Up (uy 10-uy 9} |  wwppbipnipjwu
gD © wtuidh hudwp | ppuiu-Gut 8 nywdnud wwpqupwunwiubipp
wiwnh (+/-) )
u P G Y| 6 2 E L (& d 7 8 9 10 1 12
Cwdwjupwht dowlnyrh L
106009 | 2 (1168 |UC| 23| 2 wquwn dwdwugh 2,993.20 2,993.20 2,993.20 -
Yuqduwlinuynud dhongunniiubiph pwtwyp pwlwlwywu
<wunhuwwnbuph pYwpwuwyp pwiwywywu -
Lbpywjwgnuiubph pwtwyp pwiwywywu
fFwunbpwlwu
106009 | 2 | 1168|UT| 24| 3 ubpUujwgnulutin Unp phdwnpnipiniubph pwlwyp pwlwlwywu
Uwnwghnuwp dbYy ubpyuyugdwi hwdwp nwhihth bl
dhoht ptiniywénipjniup
Cunwdbkup 69,306.10 69,306.10 69,306.10 -
Uowlnipwihu
Uawynipwiht dhgggl?unnl:dtr:hnh
wfuubip
4 Jub
106009 | 2 (1168 |UD| 25| 4 HEQTI?UUJ;N nur;rl]L dowlnipuwhts dhgngwnnuiutinh pwtiwlyp pwuwywlywu 6,503.30 6,503.30 6,330.90 |- 172.40 Ywwnwpdwl
q n wpryntupnd
hpwywuwgnd
wnwowgud
inuwnbtiund
Udwnwiht wywhwwudwt Gupwyw
wywnnbwuwwwnhubiph punhwunip pwiwlwlwu
Gpywpnigniup, yd
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Uannhlujhﬁ bhuwtuwlwu gnigwuhoubin (hwgq. npwd)
nwupsp
ot
£ Swppbipnipjwu
= g = Snigwu
o S—c- Lwnwpw s ﬁ 8nigwuhzh Lhninl‘ur:irj Gounywsd Putunwgh tunGuinp
5 =y Ynitinipjw é 3, Opwgph Ywd Qupnpnohsh | h 5 bt u gnigwhgp | <wunwnywd|  (u). 8-nud upjwd
= -1 Wl i I~ Luinwpuiljwbinipjul Quithnpnghsp (Whwnwapniejnup) bl ﬁ”mwﬁqwd el gnblgw dhzrfj | (st | W puunwgh | ppuulu
=
€ E nh < 3 dhgngundw wujwnudp {uuifuwinunidp guen wi{tnnidudu U dwfuu) gnigwhauinh| whwnbph hnnwdubpp
3 [nwuhs |dhgnguind| = = hwoybinnt  [hwdwwwnw | wywhwindwsdh
3 3 3 hwodtiinnt  Jwwppbipniegne| W uj. 11-nwd upwd
1] wt o g dwdwuwwhw u-fuwi hwdwp (uy 7+y)
dwdwuwlwhw | Up (uy 10-uy 9} |  wwppbipnipjwu
ruitgn € S huidw | ppudu-ut 8 nywdnid wpqupwunwiut
wlnh (+) wung P) np
u P G Y| 6 E L (& d 7 8 9 10 1 12
Lwupwybnwlwu b Adbnwiht wwhwwudwu Gupwyw
dwpqujht Upwbwnpjwl  |wywnbwbwwwphtbph punhwunip pwuwywlywu
wywnwuwwwphubiph BpYwpnieniup, Yu
106009 | 2 |1049|UoT| 09 Puinbjwdwl U winwtg
pplubyniejwl
dwnuwijniniutibin
Cunwdbkup 161,010.00 161,010.00 161,010.00 -
Mg inhy nnpnypny
wotuwnnn,
?j?dtuulgsg:::izgt:ﬂh u Cwdwwwnwufuwy whnwlwl hhduwplubph wﬁiﬂﬂﬁgjﬁpﬂgﬁq
duwlyt uub ub u u . . . - 46,154.63 ’
106009|2 | 1015|0S | 20 wohusnnnubnh unghuulut qigwtaq puninuutiph waluwwnwlhgubiph pwuwlwlw 239,976.00 239,976.00 193,821.37 wpawlnipn
thwebpny wwwhnynud P L gwnuynn
wofuwwnwlhgubiph
htinlwup
Uwnbuwnwynpdwu dhgngny
npwlywynpnud utnwgwd Upfuwnwuphg
Unki dwl upnui d
106009(2 | 1146(0S | 45 nwnighsubipht ugwu::iTSanh :;nmm pud npuuidnpne pwlwlwywu 8,574.40 228.10 8,802.50 8,746.90 |- 55.60 [wqwwnyws nwnigsh
huwibjwdwnutph g ghattn huwybwyuwn
inpwdwnpnud
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Opwigpuwjht Shuwbuwlw gniguwhgubip (hwg. npuwd)
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o o § 3 u Swppbipnipjwu
S—c_ eunubw g_c_ 5 3 u niguingh 6 5 Pwuwgh wwwndwnp
? =lo anUqr-uQuJ é § Opwgph Ywd Qupnpnohsh | h niguw hZhé LhnL{Lr;l';n; zmd;:u gnigwhgp | <wunwnywd|  (u). 8-nud upjwd
g S u r) gl = Lunupwlwtinizju Qwithnpnghgp (Wywpwigpnieniup) unbuwlyp ﬁumwil{wd feInttHan h gnblgw thISI . (npwdwpynuih| W hwunwgh hpwywywu
=
€ E nh < 3 dhgngundw wujwnudp {uuifuwinunidp guen wi{tnnidudu U dwfuu) gnigwhauinh| whwnbph hnnwdubpp
3 [nwuhs |dhgnguind| = = hwoybinnt  [hwdwwwnw | wywhwindwsdh
3 3 3 hwodtiinnt  Jwwppbipniegne| W uj. 11-nwd upwd
1] wt o g dwdwuwwhw u-fuwi hwdwp (uy 7+y)
g dwdwuwlwhw | Up (uy 10-uy 9} |  wwppbipnipjwu
gD wtuidh hudwp | ppuiu-Gut 8 nywdnud wwpqupwunwiubipp
wiwnh (+/-) )
u P G Y| 6 2 E L (& d 7 8 9 10 1 12
Uy punnpwtipwjhu
wofuwnwupw)hu
Sdwnuwjnnutipht opkupny, Wpunpwupwjht woluwwnwlpwiht Swnwjnyejniu bl 360.00 360.00 360.00 )

1060092 | 1110(0S | 04 L uwhdwuywsd npudwywu wugunnubph rhyp

pwlwpwpdwu gnwwnubph
npwdwnpnd

Lwjwutnwup

<wu b ul

03 hzwwﬂ :l;nlr:adidw wbiph Cwjwunwuh <wupwwbinnygjwu W dwjhujwu

106009(2 |1168|Uo| 49| 1 105 dequhUnULjhpl{wné M | hepnuwdwnutinh 100-wdjwyht tyhpduws pwlwlwlwl 4,100.00 4,100.00 4,100.00 ;
dhenguinnudtbph dhongunnuiubiph hpwlwuwgnd, hwdwlwpgnud

hpwywuwgnwd

Ugwlgnipintu Utinphh

106009(2 (1035(oS| 12| 1 nwpwdwopswth gninwlwt  [Spwliubbipn uinwignn wudwlg pwtwlp pwuwywlywu 8,420.40 8,420.40 8,420.40 -
puwlsniejup
Wjpnunpwiupwiht
Swnwjnnh
Wpu u u
JipUinpuilipuh wlwouwwnniuwynt
wofuwnwtipw)hu
Swnwjnnubipht npwdwywu eyl htnluwtipny
106009(2 (1110 (oS|o04| 1 pwlwlwywu 630.00 630.00 315.00 |- 315.0 wofuwnwuph
pwywpwpdwu W npwdwywl Uk u
thnfuhwinnigdw subnbuywlwnt
hwugqwdwupny
inpwdwnpnud
wwjdwuwynpywsd
intwnbunid
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=
€ E nh < 3 dhgngundw wujwnudp {uuifuwinunidp guen wi{tnnidudu U dwfuu) gnigwhauinh| whwnbph hnnwdubpp
3 |nuwuhg |dhgngund g = hwoybinnt  [hwdwwwnw | wywhwindwsdh
3 3 hwodtiinnt  Jwwppbipniegne| W uj. 11-nwd upwd
1] wt o g dwdwuwwhw u-fuwi hwdwp (uy 7+y)
dwdwuwlwhw | Up (uy 10-uy 9} |  wwppbipnipjwu
gD © wtuidh hudwp | ppuiu-Gut 8 nywdnud wpqupwuntiub,
wln (+/-) Lt P) np
u P G Y| 6 2 E L (& d 7 8 9 10 1 12
<<Lwywgnp dwpquuwt  |Upgnyeh dwutwlhgubiph ghyp -
106009 | 2 | 1163|UD| 23| 1 punwuhp>> dpgnyeh pwtiwywlwl
wuglwgnud
Uwpqudéltiph phyp 1,200.00 1,200.00 1,200.00 -
Uowlgntpyniu <L Ujntuhph
u u . . . -
106009(2 (1047|0S| 15| 1 duingh huduuptpht Swhwnniutiph pwuwyp pwuwlwlw 5,020.00 5,020.00 5,020.00
Uowlgntpyniu ££ Uiniuhph
106009|2 [1047|0S| 37| 2 duinqh hwduupubpht Swhwnniutiph pwuwlyp pwlwlywlwu 19,950.00 19,950.00 19,950.00
Swpwdpubinh munbuwlwu b
unghw wlwt
Cuwh ub u u u . . . -
1060092 | 1157 (0S| 24| 1 bupwlwnnigudptnh whwnnibph pwwyp pwuwlwhw 187,554.4 187,554.4 187,554.4
qungugntd
<L Ujntuhph Ul
dwpqubivnwipwuh Ynndhg
U & u upnud
106009|2 |1002(4<|08| 1 nwpwdpwiht Ywnwywpdwt &Luht?unégqnq nunieiul Ynu Yunwndnn pwuwywlwu 500.0 500.00 456.00 |- 44.0 ul:jir:d;;iz:é
pwnwpwlywuntpwl U
hpwywuwgnud
Swpwdpubinh munbuwywu L
unghwjwlywt
u u . . . -
106009|2 | 1157 (TS| 24| 4 bupwunnigudptnh Swhwnniutiph pwuwyp pwliwlwlw 29,750.9 29,750.90 29,750.90
quipgugntd
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